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const int MAXN=2e6+5,MAXS=2e5+5;
int idx[MAXN;
struct AC
int ch[MAXS ,val[MAXS|,fail|MAXS|,cnt[MAXS]|,deg/MAXS]|, sz, tot;
int ans|[MAXS];
int insert(char *s
int len=strlen(s),pos=0;
_for(i,0,1len
int c=s[i]l-'a';
I'chipos|ic
chlpos||cl=++s2;
val[szl=fail[sz]|=0;
mem(ch|sz],0);

pos=ch|pos||[c];

Ival|pos val| pos|=++tot;
val|pos|;

void getFail
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queue<int> q;
_for(i,o0,
ch i
g.push(ch il);
Iq.empty
int u=q.front();q.pop();
_for(i,o0,
chiulli
deglch[faillul | 1] [++;
failich|ul[i]|=ch[faillu il;
g.push(chlul[i]);
chiullil=ch[faillu il;
void topu
gqueue<int> q;
_rep(i,l,sz
ldeg/i/&&failli
g.push(i);
Iq.empty
int u=q.front();q.pop();
faillu
cnt[faillul [+=cntu];
deg/ faillul|--;
ldeg/ faillu
g.push(faillu]);
void query(char *s
int len=strlen(s),pos=0;
_for(1i,0,len
pos=ch/pos||(s|[i/-'a'l;
cnt|pos|++;
topul();
_rep(i,1,sz
valli
ans|vallill=cnt(i];
solver;
char buf[MAXN];
int main

int n=read_int();
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_rep(i,1,n
scanf("%s",buf);
idx[i]=solver.insert(buf);

solver.getFail();
scanf("%s",buf);
solver.query(buf);
_rep(i,1,n
enter(solver.ans|idx|i ;

?

goo

00 p2444

od
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const int MAXS=3e4+5;
struct AC
struct Edge
int to,next;
edge[MAXS<<1];
int head[MAXS!,edge cnt;
int ch[MAXS ,val[MAXS|,fail|[MAXS],sz;
void AddEdge(int u,int v
edge|++edge cnt|=Edge{v,head|u]};
head|u/=edge cnt;

void insert(char *s
int len=strlen(s),pos=0;
_for(i,0,1len
int c=s[i]-'0"';
I'chipos|ic
chlpos| | cl=++s2;
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val[sz]|=faillsz]|=0;
mem(ch[sz!,0);

pos=ch[pos|ic]l;
val/pos|=1;

void getFail
queue<int> q;
_for(i,0,
ch i
g.push(ch i]);

Iq.empty
int u=q.front();q.pop();
_for(i,o0,
chiul i
failich|ul[i]|=ch[faillu il;
g.push(chlul[i]);

chlullil=ch[faillu il;

_rep(i,1,sz
AddEdge(faillil,i);

void dfs(int u,int flag
val ul/=flag;
int i=head/ul;i;i=edgeli].next
int v=edgeli].to;
dfs(v,flag|valiv]);

bool dfs2(int u
vallul=-1;
_for(i,0,
valichlul[i]]==-
true;
'vallchlul[i]]&&dfs2(chlul[1i
true;

vallul=1;
false;

bool query
dfs(0,0);
dfs2 C

solver;
char buf [ MAXS];
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int main
int n=read_int();
_for(i,0,n

scanf("%s",buf);
solver.insert(buf);

solver.getFail();
solver.query
puts("TAK");

puts ("“NIE");
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const int MAXN=1e5+5;
int idx[MAXN|,string cnt;
struct Edge

int to,next;
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edge MAXN | ;
int head MAXN|,edge cnt,dfs t,L/MAXN!,R[MAXN];
void AddEdge(int u,int v
edge| ++edge cnt|=Edge{v,head/u] };
head|u!=edge cnt;

void dfs(int u
Llul=++dfs_t;
int i=head|u];i;i=edge!i].next
dfs(edge/i].to);
Riul=dfs t;

#define lowbit(x) x&(-x)
struct BIT
int c/MAXN];
void add(int pos,int v
pos<=dfs t
clpos|+=v;
pos+=lowbit (pos);

int query(int pos
int ans=0;
pos
ans+=c|pos|;
pos-=lowbit (pos);

ans;

tree;
int ans|[MAXN];
vector<pair<int,int> >opt/MAXN]|;
struct AC
int ch[MAXN , ch2 [MAXN ,P/MAXN|,val [MAXN|,fail[MAXN]|,sz;
void insert(char *s
int len=strlen(s),pos=0;
_for(i,0,1len
islower(s|i
int c=s[i]-'a"';

Ichipos|ic
chlpos|[cl=ch2[pos||[cl=++52;
plsz|=pos;

pos=ch/pos||c];

s[i]=='B"
pos=p[pos];

val/pos|=1;
idx|[++string cnt|=pos;
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void getFail
gqueue<int> q;
_for(i,0,
ch i
g.push(ch i]);

Iq.empty
int u=q.front();q.pop();
_for(i,o0,
chiulli
failich|ul[i]|=ch[faillu il;
g.push(chlul[i]);

chlullil=ch[faillu il;

_rep(i,1,sz
AddEdge(faillil,i);

void dfs(int u
tree.add(L[u],1);
_for(i,0,optlul.size
pair<int,int> t=optiulli];
ans|t.first|=tree.query(R[t.second])-tree.query(L[t.second]-1);
_for(i,0,
ch2fulli
dfs(ch2(ul[i]);

tree.add(L[ul,-1);

solver;
char buf [ MAXN];
int main

scanf("%s",buf);
solver.insert(buf);
solver.getFail();

dfs ;
int g=read _int(),a,b;
_rep(i,1,q
a=read _int(),b=read int();
opt/idx/b||.push back(make pair(i,idx|a ;
solver.dfs ;
_rep(i,1,q

enter(ans[i]);
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